#

DEFRE

L §

hn#EF0ER

$8-119[060901: ¥H]

A DR

¢ 1979:Anders Ahlbom (Sweden) DFF

. EDELWZ:1999-2002/7.2{&M

« EIBER 0301284 Tl 1 Etop THE

o ABAYUR:030915 HFE- Th AR

* 2003 :Katoh#t FIZRX Q) : HITEZF A

- 2005: XHE-FHEF(RERE  /NEE—*)
DEHRFM: RTFE(C) [HEOREBIX?]
* BEABRAERAPER/ XXZEAIXXAEER)

$5-119[060901: #%] 2

EEGIXRIIRICET S
BRI (A v X)) 5 E

i3] + -

Z@ + a b

= c d

i 1/1, 1/1,
OR=a-b/c-d

—[l-a/{l-a +1,7b}] / [l /{l, ¢ + 1,
d}]

$8-119[060901: %]

FESRFARD 060823 @ [5BI1E) 1@

* PEES, BECsEURY : [EEl |

1B21FES /NI ZERSBHEHSEES (ED)
ERETIERMERE. BOENSHD1.39EEDHA
BERET A FSUPORRBRF—LAD'RR.

16~59E D 8,367 AZ R R . BUFE27% D15 4458
FE1FERIT1A UL EED& 1=,

EDRIEDERIEIX. 1H20KLLFO A (£5021%)
[EBhHELADL.2465, 21 KL ED Al (F6%) F1.39
f&ETH-oI=.

$5-119[060901 : %] 4

£y

ED&E & (060823 #RHRT]

HEEA - BE1E21E8 M E -~ RR=1.39

a= 50 b= 452 a+b= 502
c= 580 d=7.285 c¢+d=7,865
ate=630 b+d=7,737 n = 8,367

a/(a+b)=0.10 ;: c/(c+d)=0.074
a/(a+b)/{c/(c+d)}=0.10/0.074=1.35
OR = 50 x 452 / (580 x 7,273) = 0.0054
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a=6 b=306 a+b=312
c=5 d= 598 c+d= 603
atc=11 b+d= 904 n= 915

r,=a / (a+ b ) = 6312 = 0019
r =c¢c/ (¢ + d) = 5603 = 00083
RR=r,/r. =0.019/0.0083 = 2.29

OR)=axb/exd=6x306/(5x598)=0.614
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